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QUESTION 1

What is the purpose of the cluster-list attribute within a BGP route reflector group? 

A. to disable internal cluster re-advertisements 

B. to facilitate loop detection within the route reflector network 

C. to define the router that first advertised the route to the route reflector 

D. to override the router ID value within the cluster 

Correct Answer: B 

 

QUESTION 2

You have the LDP signaled VPLS topology as shown in the exhibit. CE-B at Site-2 is multihomed to both PE-2 and
PE-3. 

In this scenario, where would you configure loop prevention? 

A. PE-1 

B. CE-B 

C. PE-3 

D. PE-2 

Correct Answer: A 

 

QUESTION 3
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Your router should be configured with a rewrite rule which alters the default behavior of expedited forwarding as shown
in the exhibit. 

In this scenario, which configuration is correct? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 

 

 

QUESTION 4
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Referring to the exhibit, which command would reduce the size of the OSPF database and corresponding routes? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

 

QUESTION 5

JN0-663 VCE Dumps | JN0-663 Practice Test | JN0-663 Study Guide                                7 / 8

https://www.pass4itsure.com/jn0-663.html
https://www.pass4itsure.com/jn0-663.html
https://www.pass4itsure.com/jn0-663.html


https://www.pass4itsure.com/jn0-663.html
2024 Latest pass4itsure JN0-663 PDF and VCE dumps Download

Referring to the exhibit, hosts in Site 1 and Site 2 are unable to communicate with each other through the Layer 3 VPN. 

What is the problem? 

A. The two sites are in the same AS. 

B. The two sites are using the same instance type. 

C. The two sites are using the same route target. 

D. The two sites are using the same route distinguisher. 

Correct Answer: A 
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